Chemistry 115 - 3910




Name 






Dr. Cary Willard

Quiz 6A (20 points)




April 1, 1998

All work must be shown to receive credit.

Avogadros number = 6.02 x 1023/mol

PV = nRT

R = 0.0821 L atm/mol K = 62.4 L torr/mol K

1. (6 points) How many grams of acetic acid, the odor and taste producer in vinegar, must be dissolved in water to make 750.0 mL of 0.650 M HC2H3O2? 

2. (6 points) How many milliliters of concentrated ammonia, 15.0 M NH3, would you dilute to 593 mL to make 4.33 M ammonia?

3. (8 points)  Calculate the mass of chlorine that can be produced from the reaction of 50.0 mL of 1.20 M HCl with excess MnO2 according to the following reaction.

MnO2  +  4 HCl  ((  MnCl2  +  2 H2O  +  Cl2
What would the volume of the chlorine gas be at 25oC and 822 torr?
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Dr. Cary Willard

Quiz 6B (20 points)




April 1, 1998

All work must be shown to receive credit.

Avogadros number = 6.02 x 1023/mol

PV = nRT

R = 0.0821 L atm/mol K = 62.4 L torr/mol K

1. (6 points) How many grams of acetic acid, the odor and taste producer in vinegar, must be dissolved in water to make 850.0 mL of 0.640 M HC2H3O2? 

2. (6 points) How many milliliters of concentrated ammonia, 15.0 M NH3, would you dilute to 671 mL to make 6.48 M ammonia?

3. (8 points)  Calculate the mass of chlorine that can be produced from the reaction of 60.0 mL of 1.20 M HCl with excess MnO2 according to the following reaction.

MnO2  +  4 HCl  ((  MnCl2  +  2 H2O  +  Cl2
What would the volume of the chlorine gas be at 25oC and 822 torr?
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Name 






Dr. Cary Willard

Quiz 7A (20 points)




April 2, 1998

All work must be shown to receive credit.

Avogadros number = 6.02 x 1023/mol

PV = nRT

R = 0.0821 L atm/mol K = 62.4 L torr/mol K

1. (5 points) Large quantities of silver nitrate are used in making photographic chemicals.  Find the mass that must be used in preparing 2.50 x 102 mL of 0.058 M AgNO3. 

2. (5 points) Concentrated HCl is 12.0 molar.  Find the molarity of the solution prepared by diluting 423 mL to 35.0 L.

3. (6 points)  Calculate the mass of chlorine that can be produced from the reaction of 15.0 mL of 1.20 M HCl with excess MnO2 according to the following reaction.

MnO2  +  4 HCl  ((  MnCl2  +  2 H2O  +  Cl2
What would the volume of the chlorine gas be at 25oC and 822 torr?

4.  (4 points) State the effect of a temperature increase on the rate of a chemical reaction.  Explain this effect in molecular terms.  (I.E. how does behavior of molecules change to increase or decrease rate.)
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Dr. Cary Willard

Quiz 7B (20 points)




April 2, 1998

All work must be shown to receive credit.

Avogadros number = 6.02 x 1023/mol

PV = nRT

R = 0.0821 L atm/mol K = 62.4 L torr/mol K

1. (5 points) Large quantities of silver nitrate are used in making photographic chemicals.  Find the mass that must be used in preparing 2.50 x 102 mL of 0.095 M AgNO3. 

2. (5 points) Concentrated HCl is 12.0 molar.  Find the molarity of the solution prepared by diluting 621 mL to 35.0 L.

3. (6 points)  Calculate the mass of chlorine that can be produced from the reaction of 25.0 mL of 1.20 M HCl with excess MnO2 according to the following reaction.

MnO2  +  4 HCl  ((  MnCl2  +  2 H2O  +  Cl2
What would the volume of the chlorine gas be at 25oC and 822 torr?

5.  (4 points) State the effect of a temperature decrease on the rate of a chemical reaction.  Explain this effect in molecular terms.  (I.E. how does behavior of molecules change to increase or decrease rate.)
















